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- Answer all questions on the answer sheet not on the test!

Please identify the features on the diagram. Write the answer for A by number 1on the answer sheet, B by number 2 on the
answer sheet, and so forth. (1 point each)
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Identify the drainage patterns shown below. Write the answer for A by number 6 on your answer sheet, B by number 7, C by
number 8 and D by number 9. (1 point each)
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Answer all questions on the answer sheet not on the test!

-

Please place the following steps in proper order. Write the first step by number 10, second step by number 11, and so forth
with the 8% step by number 17. (1 point each)
Numbers 10 - 17.

ITommape»

Runoff from several slopes collects in low places.

Rain falls to the Earth's surface.

Water fimbles in broad sheets.

Branch gullies develop and then become tributaries.

A gully is formed.

A V-shaped valley with streams, waterfalls and rapids form.
Erosion lengthens the gullies.

The gully gets larger and collects more water.

Label the following as characteristics of a mature or immature river. (1 point each)

18.

18.

20.
21,
22,
23.
24

25,
2.

U-shaped valley
V-shaped valley
Flat land

Oxbow lake
Waterfalls

Greater turbidity
Meanders

Steep sides

Greater oxygeriation

Complete the following table. Please put your answer by the correct number on the answer sheet. (1 point each)

Longest Rivers of the World
River Name Headwaters location ||  River empties into this body of water
Longest river in worid
27 __ 0. 3.
2 ongest river in world
28, 31. M.
J¢ Longest river in world

Give an example of a stream food d»dnhatindudasa'pmdwar.pﬁmaycmm,saomdayconmmmdterﬂay
consumer. Put the name of the producer by number 36, primary consumer by number 37, secondary consumer by number
38, and tertiary consumer by number 39. Identify the species in the food chain that contains the most energy on number 40.

(1 point for each)

36. (Producer)

37. (Primary consumer)

38. (Secondary consumer)
39. (Tertiary consumer)

40. (Most energy)
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Answer all questions on the answer sheét not on the test!

The map below shows an ancient river in Ohio. Please answer mggg guestions about the river and the mag (1
point each)

41. What is the name of that ancient river?

42. What happened to change the flow of that river?

43. What general direction did the river flow?

44. What large river now drains the watershed of the ancient river?

45. What was the stream order of that ancient river?
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Fill in the Blank

46. An oval-shaped mound of till is a .
47. The tip of the mound (in question 46) points (in the direction , away from the direction) of glacial movement.

48, What is found today in the outwash plains of glacial meltwater?

49. The major sources of iceberge are the continental glaciers of and
50. |

51. The major causse of erosion is ___
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Answer all questions on the answer sheet not on the test!

Uss the following graph to answer the following questions.

Distance Traveled by Sediment Particles Settling Through 100 m of Water in a Current
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from Prentice-Hall, Dynamic Planet, Activity Book, p. 193
52. List the four different sized particles in order of increasing rate of settiing.

53. Howlongwould it take fine sand to settle to a depth of 50 m?

54. Which sized particle(s) will probably settle to the bottom at a distance of no more than 100 km from shore?
55. What is the diameter of coarsa clay?

56. To what depth would a siit particle have ssitled by the time it had traveled 10 km from shore?

57. If sediment particles that are 0.0010 mm in diameter setfie to the bottom in water that is 100m deep, into which
approximate settling-time do they most correctly fit? -
a. hours to days b. days to weeks c. weeks to months d. months {o years

58. If a particle setties to a depth of 100m and comes to rest 100km from shore, to what depth has It settied when it is 10 km
from shore?

59. Into which approximate size range does such a particle (from # 58) fall? '
a. coarse to fine sand b. fine sand to silt ¢. siit to.coarse clay d. coarse clay fo fine clay

60. A particle that is 0.1 mm in diameter is classified as
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